Cnpagka pacuyera HopMaTUBOB 3a 1 kBapTan 2021 roga

Pacuer H1: 1 438.871/1 110,954 =1,30 rne
1. 1438,871=(ctp.1600 bananca)/
2. 1110,954 (pacmr.ctp.1530 Banasca (0Gs13aTenbCTBa 110 IOTOBOPAM JOJIEBOT0 y9acTHs))

Pacuer H2: 310,815/325,868 = 0,95, rxe:

1. 310,815=(1 009,415 ctp.1100 Bananca+354,890 ctp.1230 Bananca +0,00 ctp. 1240
Bamarca — 1 004,570 crp.1150 bananca (He3aBepIIeHHOE CTPOHTENLCTBO) -48,920
(nenexHBIe CcpecTBA YIaCTHUKOB JOTIEBOIO CTPOUTEILCTRA, HpeILOCTaBJIEHHLD( c
OTCPOYKOIf IIIaTeXa)).

2. 325,868 = (0,639 ctp.1400+1 436,183 c1p.1500 Banarnca) — 1 110,954 (cymma
0643aTeNLCTE 110 JA0TOBOPaM IONIEBOT0 YYacTHA)). |
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